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ARITHMETIC PROGRESSIONS

1) Missing term of the A. P s, -37,-33, __ ,-25.
A)-26 B) -27 C) -29 D) -28

2) If a, = 2n-3 thena, + a5 is
A)7 B) 8 C)9 D)6

3) If a, = n*-1 anda,=35 then ‘n’ is
A) 16 B) -6 C) +6 D) 36

4) If a, = n*-1 anda,=99 then the value of ‘n’ is
A)9 B) 10 C) 99 D) 100

5) If a,, = 2n+1 then the common difference of the A.P is
A) 1 B) 2 C)3 D)5

6) If a, =3n+1 thena, ; is
A) 3n-4 B) 3n+4 C) 4n+3 D) 4n-3

7) n™ term of an AP is
A)a-(n-1)d B)a+(n+l)d C)a+(n-1)d D) a-(n+1)d

8) n™ term of 3,7,11,15......is
A) 4n-1 B) 4n+1 C) 4n+3 D) 3n+4

9) An example for A.P is
A)1,4,6 B) 10,12,14 (C)35,32,25 D)8, 13,19

10) In an A.P a,+5n=35 then common difference is
A)2 B) 3 C)5 D)-5

11) In an A.P a,+3n-2 then the common difference is
A)2 B) 3 C)4 D)5

12) If 20, x+1, 4 are in A.P then the value of ‘X’ is
A) 11 B) 3 C) 13 D) 24

13) If 2a+1, 4a and 13-a are in A.P then ‘@’ is equal to
A) 2 B) 3 C) 4 D)5

14) Common difference of the A.P -3,-5,-7,-9 __ _ _is
A)2 B) -2 C)-3 D) -5

15) Next two consecutive terms of the AP3,1,-1, s
A)8,3 B)-3,-5 C)3,5 D)3,-5

16) In an A.P first term is 5 and common difference is 2 then 10" tem is
A) 23 B) 52 C) 25 D) 32




17) " term of the A.P 3,2,1,0
A) 2+n B) 2n+2 C)n-2 D) 4-n

18) Which term of the A.P 2,5,8  26is
A) 8 B) 9 C) 10 D) 12

19) Which term of the A.P -3,-5,-7,-9 __is -21
A) 8 B) 9 C) 13 D) 10

20) In an A.P first term is 5, common difference is 4 then its 20" term’s
A) 61 B) 71 C) 81 D) 91

21) In an A.P first termis 5 and 11" term is 25 then its common difference is
A)2 B) -2 C)3 D)4

22) In an A.P common difference is 3, and 9™ term is 28 then its first term is
A)2 B) 3 C)4 D)5

23) ifa,, = 3n-5 then s; is
A)3 B) 4 Q)5 D)7

24) The 7" term of the series 3+6+9+
A) 10 B) 12 C) 15

25) The angles of a triangle which are in A.P is
A) 40,50,90 B)20,60,100 C)40,60,80 D)50,70,60

26) If the first term of an A.P is 2 and Common difference is 2 then its nth terms is
A) 2(n+1) B) 2n+2 C) 2n D) 2n’

27) General form of an A.P is
A) a+(a+d)+(a+2d)+ +[a+(n-1)d] B) a+(a+2d)+(a+4d)+ [a+(n-1)d]
C) a,(a+d), (a+2d), (a+3d), [a+(n-1)d] D) a, (a+2d), (s+4d), (a+6d) [a+(n-1)d]

28) The correct relationship is
A) Sp_1-Sp=ay B)sp_i+sp=ay, C) Sp - Sp-1= Ay D) sp + sp_1=ay,

29) If a1p=20 and ayg =10 in an A.P then the common difference is
A) -1 B) 1 C)2 D) 15

30) If a,, and a,,,;are the consecutive terms of an A.P, then the common difference is
A) an +ayi1=d B)any +a,=d C) apts-an=d D) an+1 =d-an

31) Sum of all first ‘n’ Odd natural numbers is
A)n B) 2n C)n’ D) 2n?

32) Sum of all the first ‘n’ even natural numbers is
A) n(n+1) B) n(n-1) C) 2n(n+1) D) 2n(n-1)

33) Number of terms of an A.P 1,4,7 are needed to make the sum 51
A)3 B) 4 C)5




34) If a, =5n-2 then S;is
A) 38 B) 40 C) 42

35) Sum to ‘n’ terms of A.P 1+3+5+7+
A) 2n+1 B) 3n C)n’

36) Sum of ‘n’ terms of the A.P is Sn = 2n*+6n then its second terms is
A)8 B) 12 C)10 D) 20

37) The first 3 terms of the sequence whose ‘n™ term is 2n+3 is
A)5,7,9 B) 5,8,10 C) 6,8,10 D)5,9,13

38) 20" term of the sequence a,=3n-10is
A) 25 B) 50 C) 60 D) 70

39) If a,=5n +2 thena,_; is
A) 5n+7 B) 5n-7 C) 5n+3 D) 5n-3

40) The common difference between the consecutive terms a,,_; and a, of an A.P is
A)d=a,_4-a, B)d=a,-a,_ C)d=a,+a,.4 D) = a,_1+ a,

41) Arithmetic mean between ‘p’ and ‘q’ is

AVeg  BEL ot D)2

p+q 2pq

42) Arithmetic mean between 11 and 15 is
A)13 B) 14 C) 26 D) 28

43) 3+6+9+ +3n can be written as
ADd'n B)2)n C)3)n D)) 3n

44) The value of a+2a+3a+

AdndY a B)a).n Cn)a

45) The value of ), 10-).5 is
A) 15 B) 40 C) 55 D) 70

46) Y n’is

nn+1)
2

n?(n+1) C\n(n +1) D) |:n(n+1)
2 2

A) B) 1’

47) The formula of the sum of first ‘n’ natural numbers is
A) n(n 1) B) n(nz+1) C) n(n3+1) D) n(2721+1)

48) If a,, and a,, are the consecutive terms of an A.P then the common difference is

A)d_“" Im  g)g=tn—im C) d=2m%n  p)g=tm—n
-n m+1 m+n

49) If a,, is the nt™ terms of an A.P whose first term is ‘a’ and common difference is ‘d’ then they are
related by

A) d="1—

an+a an+a anp—a

n+1

B) d— C) d— D) d=




50) Formula of sum of the terms of an A.P whose first term is ‘a’ and nt" term is “ a,,” is
A) Sn =§(a+an) B) Sn =2n(a+a,,) C) Sn =%(a—an) D) Sn =2n(a-a,)

51) 3 numbers are in A.P, Their middle number is 10, then the numbers are
A) 2,10,16 B)2,10,18 C)2,10,20 D) 2,10,22

52) Three numbers are in A.P their sum and product are 12 and 48 respectively then the numbers are
A)2,5,8 B) 2,4,6 C) 1,35 D) 4,18,16

53) Number of two digit numbers divisible by 5 are
A) 19 B) 18 C) 20 D) 17

54) Find the numbers of two digit numbers which are the multiples of 3
A) 33 B) 35 C) 30 D) 20

55) In an A.P 4™ and 7" terms are 14 and 23 respectively then its 11" terms is
A) 32 B)35 (C)38 D)36
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Teinadd geacith

1) -37,-33, __, -25.380030 3e00Q Qi) B3 B
A) -26 B) -27 C) -29 D) -28

B) a,=2n-3sT3 a +asS B3So0d
A)7 B) 8 Q)9 D)6

3) ap =n*1 DB a,=35 T3 N’ B BSSW

A) 16 B) -6 C) +6 D) 36

4) ay =n*1 L a,=99 T ‘N’ I LS
A) 9 B) 10 C) 99 D) 100

5) B=203TC FeBoD nIe T a, = 2n+l T3 mmsé 55@55@
A)l B) 2 03 D)5

6) a, =3n+l =533a,4q
A)3n-4  B)3n+4 C) 4n+3 D) 4n-3

7) 3n30838 3eROR nde TWR)
A) a-(n-1)d B) a+(n+1)d C) a+(n-1)d D) a-(n+1)d

8)3,7,11,15 _ _ _ _AS5008T 30D nJde [T
A)4n-1  B)4n+l C)4n+3  D)3n+4

9) A[00BT ZeBOD 2wOTD FVTOTTH
A)1,4,6 B)10,12,14 (C)35,32,25 D)8, 13,19

10) a,,+5n=35 =3 AR BIHID)
A)?2 B)3 C)5 D) -5

11) =083 Je@od nde TTPY a,=3n-2 STS T, FITAIIY
A)2 B) 3 C)4 D)5

12) 20, x+1, 4 3=50030 RO WHINFOWT ‘X’ e3S3030
A) 11 B) 12 C)13 D) 24

13) 2a+1, 4a 3 13-a R IRROIT FeROHYTZTE a3 L3SoR
A)2 B) 3 C) 4 D)5

14) -3,-5,-7,-9 __ __x@R033 Fe@od ZawE, 3207

A)2 B) -2 C)-3 D) -5

_T00OF 20@ IRBIAS TSR

15) Z=008s Je@od 3,1,-1, _
A)8,3 B)-3,-5 C)3,5 D) 3,-5

16) 572033 e@od e I 5, WRRF, BFF 2503 10° T3
A) 23 B) 52 C) 25 D) 32

17) 3083 Seod 3,2,1,0 _ _ _ n™ TR
A) 2+n B) 2n+2 C)n-2 D) 4-n




18) 2,58 __ __ R@m®OIT 3e@0H oFFe ITH) 26 ©NG.
A)8 B)9 )10 D) 12

19) -3,-5,-7,-9 _ _ _ _A=P0ZT 3eROD oFFe ITR) 21 80
A) 8, B) 9 C) 13 D) 10

20) #5203 Fepod JeFOFe TP 5, WRRF, BITF 4533 207 IIFY
A) 61 B) 71 C) 81 D) 91

21) 3=R033 Fe@od InTude TFY S, 117 TP 25 538 IR, ITIY
A)2 B) -2 )3 D) 4

22) #5R033 Fe@od MART, FWF 3, DY, I TIPY 28 ¢TI Becode TFY

A)2 B) 3 C)4 D)5

23) a, =3n-5 8T8 53 I PS03
A)3 B) 4 C)5 D)7

24) 3+6+9+ X=P03T 30 7 TR
A) 10 C) 15 D) 21

25) $5dnTd 3 w¥BRESN AWR0BT FeRONYD, ©) 030
A) 40,50,90 B) 20,60,100 C) 40,60,80 D) 50,70,60

26) AVIOTT eROD BHTO [T 2 Tone AIPI, BIYIP) 2 SN ©TT n™ T3
A) 2(n+1) B) 2n+2 C) 2n D) 2n?

27) B=30088 Sepod ABPT, AT
A) a+(a+d)+(a+2d)+ +[a+(n-1)d] B) a+(a+2d)+(a+4d)+ [a+(n-1)d]
C) a,(a+d), (a+2d), (a+3d), [a+(n-1)d] D) a, (a+2d), (s+4d), (a+6d) [a+(n-1)d]

28) 9NYY TOIRT T F0WOF MEFR

A) Sp—1—Sp=Qn B)Sp_1+Sp=ay C)Sp = Sp-1=ay D)sp + Sp-1=an

29) B=50080 BeRODY  a10=20 I ay = 10 STT WBRY, BIVAY
A)-1 B)1 C)2 D) 15

30) If a;, 3B Ap 41 FSPIIT FeRODYTT HTE FBPHNS TTNYTT AOTPT, BIVID)

A)an +any1=d B)ayyq +ap=d C) ant1—an=d D)ani1=d-ay

31) 3300TT FeRcH ReTL N’ BT oMY BRI
A)n B) 2n C)n’ D) 2n*

32) B0088 Zeqod HpTe N’ IDBoANY PBeTRy
A) n(n+1) B) n(n-1) C) 2n(n+1) D) 2n(n-1)

RTPOBT FeROD T, BINY BRTH) 51 SROPWH
B) 4 C)5 D)6

34) a, =5n-2 533 S8 B0
A) 38 B) 40 C) 42 D) 45




35) 143+5+7+ RBWOTT Feoh N’ TING BRTH)
A) 2n+1 C) n? D) 2n°

36) 3P0 Fe0H N TITNY 0T SN = 2n’+6n w3 o0 ITP
A)8 B) 12 )10 D) 20

37) 2n+3 F&003T SeRoD N TEHF3 ZRTO 3 TEND
A)5,7,9 B) 5,8,10 C) 6,8,10 D) 5,9,13

38) Zx2033 Feqod n* ITP a,=3n-10 =33 20™ I3
A) 25 B) 50 C) 60 D) 70

39) a,=5n+2 =53a,_10 5800
A) 5n+7 B) 5n-7 C) 5n+3 D) 5n-3

40) A=0088 BeBOHYTOT Ap—1RAR N0 TRRRNS BINE IBODT ﬁm?)é %@ﬁ@
A)d=a,,_4-a, B)d=a,—-a,_ Cd=a,+a,.;4 D)d =a,1+ a,

41) ‘P B ‘g 1Y SHAT FEPOIT TR
A)/pq B)m c) 2re D) ptq

2 pt+q 2pq

42) 11 3 15 3 FBDIF FFPOIT JRI
A) 13 B) 14 C) 26 D) 28

43) 3+6+9+ +3n T Z03T TRTH)
AY.n C)3Xn D). 3n

44) a+2a+3a+ +na J23S030
A)dXnda B)aY,n CnYa D) Y. na

45) Y10 -Y. 53 23308
A) 15 B) 40 C) 55 D) 70

46) Y., 23 D= 3 SRIJ
n?(n+1)
2

nn?+1)
2

n(n+1)
2

nn+1),2

A) B) c) o

D) [

47) 3230 AT FoLNG [BRTBJI), TOWLROINT TR

A) n(r;—l) B‘ n(n+1) C‘ n(n+1) D) n(2;1+1)

48) 4,y HHRA,FBPOTT BeROH ATH IZPRNT BHRATS ©JYRY WIPT, FTAD.
A)d=22"%m  Byg= C)d= D)d =

+1 -n m+n

_An—Aam _Am—Aan _Am—an

49) 3B2038 3eROD IRTO[e Ty ‘@’ TN n” I3 A, WBPT, TTY ‘d TS VYRS IHII AT
T0WOTR)

A)d==2 B)d=

an+a
+1

an+a

C)d= D) d =2

n+1

50)3=52083 30D BRTO JIWy ‘@’ Tonw N =% ‘a, ©sd ST BRI, BOWHRROIWT BT
A) Snz%(a+an) B) Sn=2n(a+a,) Q) Snzg(a-an) D) Sn=2n(a-a,)




51) R TTMH FB[POTT JeRPODYH VPN DTT TITPY 10 STT & TITND.
A) 2,10,16 B) 2,10,18 C) 2,10,20 D) 2,10,22

52) 00D TITRW FFWOBT FeRONYN ©PNY H[HeE Tonw msaoz%)@ ©TOTON 12 3B 48
B0 8 JEND

A) 2,58 B) 2,4,6 C)1,3,5 D) 4,18,16

53) 5003 onzonm Q0BROIOD DT, 50332571@5?
A) 19 B) 18 C) 20 D) 17

54) 33 VBIZFT DTBOBON @a‘gﬁoaﬁéﬁ@d?
A) 33 B) 35 C) 30 D) 20

55) Am00=BT ZeRodn 43¢ W) T3¢ JTNW 3won 14 3B 23 =TT 11Se ITH)
A) 32 B) 35 C) 38 D) 36
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PAIR OF LINEAR EQUATIONS IN TWO VARIABLES

1. The condition which stratifies the pair of Linear equation to interest at a point is

al b1l cl al b1l cl al b1l cl al b1 cl
A= === B)— #_—=— O— #—#— D)—=—#—
a2 b2 c2 a2 b2 c2 a2 b2 c2 a2 b2 c2

2. If a pair of Linear equations are consistant then their graph lines will be
A) Parallel B) Always coincident C) Always intersecting D) Intersecting or coincident

3. If a pair of Linear equations are in consistant then their graph lines will be
A) Parallel B) Always consistant C) Always intersecting D) Intersecting or coinciding

4. If two Linear equations intersect each other number of solutions it has
Al B) Infinite O)2 D) No solution

5. The graphs of the equation 6x-2y+9=0 &3x-y+12=0 are
A) Coincident B) Parallel C) Intersect exactly at one point D) Perpendicular

6. The graphs of the equation 2x+3y-2=0 & x-2y-8=0 are
A) Coincident B) intersecting C) Parallel D) Perpendicular

7. The graphs of the equation 2x-4y-16=0 & x-2y+8=0 are
A) Coincident B) Intersecting C) Parallel D) Perpendicular

8. The graphs of the equation x+y+6=0 & 3x+3y+18=0 are
A) Coincident B) Intersecting C) Parallel D) Perpendicular

9. The pair of Linear Equations x+2y+5=0 & -3x-6y+1=0 has
A) Infinite B) Unique C) No solution D)2

10. The number of solutions the pairs of equations 2x+3y=5 & 4x+6y=15 has
A) Infinite B) Unique C) No solution D) Exactly 2

11. If the lines given by 3x+2ky=2 & 2x+5y = -1 are parallel then the value of K is
A)= B) OF D)~

12. For what value of K the equations Kx-2y=3 & 3x+y=5 intersect each other
A)3 B)-3 C)6 D) other than -6

13. The equation which coincide with -5x+2y=4 is
A) 10x+4y+8=0 B) -10x-4y+8=0 C) 10x+4y=8 D) 10x-4y=8

14. If x+y=8 & x-y=4 then the value of x is
A)?2 B) 4 06 D) 8

15. The graph of equations 4x+3y=11 & 4x+6y=14 will be
A) Not intersecting  B) Intersecting C) Coincident D) perpendicular

16. The value of y for the equations x+y=12 & x-y=16is
A) 12 B)3 09 D) 6

17. Which of the following values are solutions to the equations 2x+y=8
A)(4,2) B)(2,4) 0 @G.2) D) (6, 4)




18. Which of the following is not a solution to the equation 2x+y-6=0
A) (0, 6) B)(1,4) 0 (2,-2) D) (2,2)

19. Which of the following are the solutions to the equation x+y=14 & x-y=4
A)(9.5) B) (-9, -5) ©) (8,6) D) (6, 8)

20. Solutions to the equations y=2x-2 & y=4x-4 are
A)(2,2) B) (1,0) 0 (0,-2) D) (0, -4)

21. The point of intersection of the equations x+y=10 & x-y=4is
A) (6,4) B)S5, 1) OXCARY D) (7,3)

22. Which of the following equations are consistant
1) 3x+2y=5 ii) 2x-3y=8
2x-3y=7 4x-6y=9
A)i B)ii C) both i & ii D) None of i & ii

23. Solutions for the equations 2x+y-6=0 & 2x-y-2=0 is
A)(2,2) B) (2,4) 0 (-2,2) D) (2,0)

24. Two parallel graphs has the number of solutions
A)O B) 2 O 3 D) 1

25. The graph of x= -2 is a line parallel to the
A) x-axis B) y-axis C) both x & yaxis D) Non of these

k %k % % 3k 3k k k %k % 3k k k ¥




oUth Stegtny Ceands Tavewtacih

1. 2 BORBTRY, 8@95@3@/% RNETTON FENT 03T JWOTPIN WITLIT FeORT TeBNToTVZEN —

al b1l cl al b1l cl al b1l cl al b1l cl
A===== B)— #— == O)—#— #— D)= =—=%=
a2 b2 c2 a2 b2 c2 a2 b2 c2 a2 b2 c2

2. 2 BovETRY, 8@@5@3@? TENCTTLONTD ?&d BRERNTINTT wPYNT TFOIW
A) 3F3003T B)ao%sme%a@gﬁ C) a3 D)e3elmd3T @ aoéémeai%gd

3.2 300TTRYY, BT FNETTOND @9&6 BRCAINPINGT ORYNT IZOAN
A) BRP0IT B) g3e0mom Beadned
@) ao%smeé%as Beadnish D) ¢3eQmMT wwo ao%smeé%w Beadnsd

4. 2 Teln 0w WOWNBY FeDATS BTY Teawds TaCFTLNT RRCRNT TOTT
A)l B) ©wz0@ 02 D) ©0%00 @y

5. 6x-2y+9=0 & 3x-y+12=0 F0e3TeN$ sgom
A) 203RRNTI B) 3z50080moNn 308
C) QDFe 2.0 WOTDTY SR D) ©333 ©omenddgs

6. 2x+3y-2=0 & x-2y-8=0 B0e3Teany ITE TeBned
A) aﬁémg@gﬁ B) g3eQA3I C) 3R0ZTPNDSS D) ©02zN3EH

7. 2x-4y-16=0 & x-2y+8=0 Fe0¢e33ToNnS XO$ JeaBNnH
A) aoﬁédm%fggﬁ B) g3eQATS C) 380ZTPNDSI D) ©02zN3EH

8. x+y+6=0 & 3x+3y+18=0 FNe3Tcony XY Beadned
A) ao%meéggd B) g3e0m3I C) 38300800 NDSS D) ©02zN3TH

9. x+2y+5=0 & -3x-6y+1=0Tes5083 FNeTTONTD TROOTT TOTITNY Towed
A) T8 B) 033, C) [Wome3 aY D)2

10. 2x+3y=5 & 4x+6y=15 FCFTLOND BLODTST TOTITNY KOS,
A) TN B) 1 C)x05000Y D)2

11. 3x+2ky=2 & 2x+5y=-1 FWesTLNY TeBNed BRPOST=ONGT k 3 83
-5 2 3 15
A)— B) ¢ O3 D)
12. K 3 03038 831 kx-2y=3 & 3x-+y=5 320083 BNeTTEONED 2.0 JDFF WOWLIY 5eDRTHI
A)3 B) -3 Cc)o6 D) -6 ?Dol BRTD TR

13, -5x+2y=4 Be25983 RWCTTEOTRONN DFRRWT FNeTTEo
A) 10x+4y+8=0 B) -10x-4y+8=0 C) 10x+4y=8 D) 10x-4y=8




14, x+y=8 & x-y=4 B0e3TNIY x &35S
A)2 B) 4 c)6 D) 8

15, 4x+3y=11 & 4x+6y=14 33 FWCTTONTOD, ITYCRTTY JEIATIN

o~ =

A) $eQRPHOY B) g3eQATI )] ao%sﬁxa%egzﬁ D) ©02zN3ZT

16.  x+y=12 & x-y=16 BenesToneQ y &5
A) 12 B)3 c9 D)6

17. 2x+y=8 30¢3Te03, 38 FENIYNTY BOUPT T[0T
A) (4,2) B)(2,4) ©@G.2) D) (6, 4)

18. 2x+y-6=0 FCBTE03, FINT IR TOTOHY
A) (0, 6) B)(1,4) O (2,-2) D) (2, 2)

19. x+y=14 & x-y=4 FNCFTLONYR BHTFT TOHT
A)(9,5) B) (-9, -5) C) (8, 6) D) (6, 8)

20. y=2x-2 & y=4x-4 BENCTTEING TOTOT
A)(2,2) B) (1, 0) O (0,-2) D) (0,-4)

21. x+y=10 & x-y=4 BNCFTLONTD), IFY THTTY TSIRATON TeBND FeRT WOTNH
A) (6,4) B)5, 1) OXCNY D) (7, 3)

22.3$NT 0I0W TeagwIT BWCFTEONG EReR Rgpdmﬂd.

1) 3x+2y=5 i) 2x-3y=8
2x-3y=7 4x-6y=9
A)i B)ii C) bothi & ii D) None of i & ii

23, 2x+y-6=0 & 2x-y-2=0 BENCITEING FTOTOT
A)(2,2) B) (2,4) O (-2,2) D) (2,0)

24. A[TWOTT TeBNYTVT IFOIN BROLTVT TOTITN
A)O B) 2 O 3 D) 1

25. x=-2 siofm oSo® @g%ﬁ JRVOBTNTVF) TR
A) x-@i B) y-@g Ox&y @dab@gﬁ@ﬁ D)C30R)R 9L

d sk sk sk sk ook ook ok sk sk sk ok ok




TRIANGLES

1. In AABC & ADEF it is given that 5> = Z= then __
A) 2B = LE B)2A = 2D C) 2B = 4D D) A = £F

2. If ADEF &APQR if £D=2£Q &£R=4E then which of the following is not true

EF  DF DF  EF DE DF EF DE
A)—=— B)—=— C)—=— D)—=—
PR PQ PQ  RP QR PQ RP QR

3. If AABC, DEIIBC so that AD=2.4cm, AE=3.2cm & EC=4.8cm then AB =
A) 3.6cm B) 6¢cm C) 6.4cm D) 7.2cm

4. Tf AABC, DEIIBC & % - %cm. If AC=5.6cm then AE =
A)4.2cm B) 3.1cm C) 2.8cm D) 2.1cm

5. The triangle which is not similar to the triangle whose sides are 2cm, 3cm, 4cm is
A)4,6,8 B) &, 12, 16 C) 5,10, 15 D)6,9, 12

6. 2 poles of height 6m & 11m stand vertically upright on a plane ground. If the distance between
their feet is 12m then the distance between their tops is
A) 13cm B) 12cm C) 14cm D) 10cm A

7. If the given fig ZBAC=90"& AD_L BC then
A) BC.CD=BC? B) AB.AC=BC? C) AB.AC=AD’ D) BD.CD=AD?

8. If it is given that AABC ~ADEF & the corresponding sides of these triangles
are in the ration 8 : 5 then ar(AABC) : ar(ADEF)
A) 8:5 B)5:8 C) 64:25 D) 25:64

9. AXYZ ~ALMN & ar AXYZ=36cm>& ar ALMN=25cm”. Then the ratio of their corresponding
sides is__

A) 36:25 B) 6:5 C) 5:6 D)V 6:/5

10. A vertical pole of 6m long casts a shadow of 4m on the ground what is the height of a tower which
casts a shadow of length 28m at the same time
A) 42m B) 32m C) 34m D) 40m A

11. The value of x in the figure is D

A) 3cm B) 5cm C) 6cm D) 8cm X
B

12. AABC~ADEEF & the perimeter of AABC &ADEF are 30 cm & 18cm respectively of
BC=9cm then EF=
A)4.5cm B) 6.3 cm C)7.2cm D) 5.4 cm

13. A ladder 25m long reaches the top of a wall 24m long from the ground. What is the
distance of the foot of the ladder from the wall.
A) Tm B) 14m C)2Im D) 24.5m

14. AABC £B=90" AC=17 cm & AB=8cm then BC=
A) 15cm B) 14cm C) 13cm D) 12cm




15. In AABC, DEIIAC which is the following relation is correct
D _ DE_BE _AC_BE BD _ DE _ BE

B D AC BC
A= = )22 == =X
AB AC BC DE EC AB

- D) 22 = A
AC BC AB DE BE
16. AABCif AB=6cm, AC=10cm, BC=8cm then 2B =

A) 120° B) 60° C) 90° D) 45°

17. In the given figure ABIIDE, DE=1.5cm, EC=2cm, BE=8cm then AB=
A) 10cm B)7.5cm C) 9.5cm D) 3.5cm

18. In a right angled triangle ABC is 2AC B=90" which of the following is correct
A) BC’=AB*+AC? B) AC’=AB*+BC? () AB’=AC’-BC* D) AB*=AC*+B(C?

19. In AABC, £BAC =450, AM_L BC, AM=4cm, BC=7cm then the value
of AC
A) 5cm B) 3cm C) 4cm D) 6cm

20. AABC~ADEF 2A=47°, zE=83" then 2C = _
A) 40° B) 53° C) 50° D) 47°

21.1f is given AABC~APQR&~= = = then 098 —
QR 3 arAABC ————

A)% B)% C)% D)%

22. In an equilateral triangle AABC D & E are the midpoints of AB&AC
respectively. Then ar. AABC : ar. AADE

A) 2:1 B) 4:1 O)1:2 D) 1:4
23. AABC~AQRP, %L iﬁin:% AB=18cm, BC=15cm then PR=

A) 8cm B) 10cm C) 12cm D)23—0 cm

24. The length of the diagonal of a rectangle having length 12cm & breadth 9cmis ____
A) 25cm B) 5cm C) 10cm D) 15cm

A) 5.6cm B) 4.8cm C)5.2cm D) 6.4cm

25. In the given figure DEIBC, DE=5cm, BC=8cm & AD=3.5cm then AB=_______ /\

26. Which of the following is a Pythagorean triplet
A)6,9,12 B) 5,12, 13 0)4,5,6 D) 8, 10, 12
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aeinetsh

. AABC & ADEF 89 =2 =2 «0d ____
A) 2B = LE B) 2A = 2D C) 2B = 4D D) 2A = £F

2. ADEF &APQR ¥Q £D=/Q&£ZR=£E=TT 8 39NS RevINTY 030900 TO0DY
— DF ) i o)X= D)L = 2E
PQ RP QR PQ RP QR

3. AABC3Q DEIBC & AD=2.4cm, AE=3.2cm & EC=4.8cm <33 AB=

A) 3.6cm B) 6cm C) 6.4cm D) 7.2cm

4. AABC &9 DEIBC & = = 2 cm & AC=5.6cm 338 AE=
A)4.2cm B) 3.1cm C) 2.8cm D) 2.1cm

5. 2cm, 3cm, 4cm ©9$30D @z‘ﬁauéﬁ 83 IYNT 03001 WFBOD TP ABTRLOIPNY
A)4,6,8 B) 8, 12,16 C) 5,10, 15 D)6,9, 12

6.302eRT J0T e 0ZWH 6m & 11m HTIT 2 30WNY IWIT ©OST 12m 8TT ©[NY
DONY IPNT 90T
A) 13cm B) 12cm C) 14cm D) 10cm

7. 3063003 8¥88Y £BAC=90"% AD L BC ¢33
A) BC.CD=B(C? B) AB.AC=BC? C) AB.AC=AD’ D) BD.CD=AD?

B D

8. AABC ~ADEF &85 &0ung 9NTHRT 03N 9008 8:5 <wd 2.(AABC) :2(ADEF)
A) 8:5 B)5:8 C) 64:25 D) 25:64

9. AXYZ ~ALMN &&.AXYZ=36cm*&.ALMN=25cm’. 538 & $5pmne om0RT 5omny
VT __

A) 36:25 B) 6:5 C)5:6 D)V 6:5

10. 6m HITT JeTeT 3oy FRILRT JOT ¢S 4m BT JTIDY, V0D [P, WTIe
BIONTY .0T FLRD) 28m NWHT STYI, VO [RRTT & FLWREE 9T —
A) 42m B) 32m C) 34m D) 40m A

2cm

11. 308300m 333G x & 23 D

A) 3cm B) 5cm C) 6cm D) 8cm X
B

12. AABC~ADEF &»5)ne mg@éﬁ% BN 30 cm & 18cm & BC=9cm T3 EF=
A)4.5 cm B) 6.3 cm C)7.2cm D) 5.4 cm

13. 25memc§353 N3O 24m ebgdcj RPCBOD 33@0333301 mésggcﬁ. TOTORT TRCTON0T 0D
mcﬁéé QT TRT
A) 7m B) 14m C)21m D) 24.5m




14. AABC £B=90" AC=17 cm & AB=8cm =33 BC=
A) 15cm B) 14cm C) 13cm D) 12cm

15. AABC,3¢ DEIAC sT3 a@ndQ Z0030aT F0203
BD DE BE AB _ AC _BE C)BDZE_E

A =222 B)= === = =
) AB AC BC )BD DE EC AB AC BC

BD _ AC_BC
AB ~ DE BE

D)

16. AABCIQ AB=6cm, AC=10cm, BC=8cm sT34B =
A) 120° B) 60° C) 90° D) 45°

17. %médaas 8339 ABIIDE, DE=1.5cm, EC=2cm, BE=8cm &33 AB=
A) 10cm B)7.5cm C) 9.5cm D) 3.5cm

B 8cm

18. ©0wdnes $5d% ABC 892ACB=90"3538 amnv® B003ma 30205
A) BC’=AB*+AC? B) AC’=AB*+BC?> () AB’=AC>-BC*> D) AB’=AC*+BC”?

19. $8300% ©83TYAABC, LBAC=45", AM_L BC, AM=4cm, BC=Tem &35

AC=__
A) 5cm B) 3cm C) 4cm D) 6cm

20. AABC~ADEF £A=47°, 21=83%3338 2C = _
A) 40° B) 53° C) 50° D) 47°

21. AABCNAPQR&z_Z=§€:SESZ§’ ar.APQR _

arAABC  ———
3

2 4
A)3 B)3 O3

22. 330w &40 AABCIY D & Ensd 3adaon AB&ACT
aﬁaqﬂswomﬁ%dﬁ Q. AABC . AADE
A) 2:1 B) 4:1 O)1:2 D) 1:4

23. AABC~AQRP, Z245C_ 2 AB=18cm, BC=15cm 533 PR=
ar.APQR 4

A) 8cm B) 10cm C) 12cm D)23—0 cm

24. 900 12cm &9N© 9em QD SONIT FEOFT LT
A) 25cm B) 5cm C) 10cm D) 15cm

25. %médaas 28339 DEIBC, DE=5cm, BC=8cm & AD=3.5cm <33 AB=
A) 5.6cm B) 4.8cm C)5.2cm D) 6.4cm

26. 3RLBHF FOBATY BFORROODT SIIRB____
A)6,9, 12 B)5.12, 13 C)4,5,6 D)8, 10, 12
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A tangent is drawn from a point at a distance of 17cm circle of radius 8cm. Its lengthis _ cm
a) 5 b) 9 c) 15 d) 23

Maximum tangents that can be drawn from an external point to a circle is
a) 2 b) 1 c)3 d)4

PQ is a tangent to a circle with centre O at the point P if triangle OPQ is an isosceles triangle then angle
POQ is
a) 30° b) 45° c) 60° d) 90°

The distance between two parallel tangents in a circle of radius 3.5cm is
a) 7cm b) 14cm c) 3.5cm d) 1.75cm

Maximum number of parallel tangents can be drawn to a circle is
a) 1 b) 2 c)3 d) 4

The lengths of the tangents from an external point A on a circle with centre O is
a) Always greater than OA b) always less than OA
c) equal to OA d) un equal to OA

The angle between two radii of a circle is 130°then the angle between the tangents is
a) L90° b) 50° c) 70° d) 40°

Two concentric circles are of radii 5cm and 3cm the length of the chord of the larger circle which touches
the smaller circle is
a) 8cm b) 10cm c)12cm d) 18cm

In the figure AP and BP are tangents and sum of the angels APB & AOB is
a) 80° b)100° A
c)180°  d)360° P

. The length of a tangent from a point A at a distance 5cm from the centre of the circle is 4cm then the
radius of the circle is
a) 2cm b)3cm  c)d4cm  d) 1cm

. Number of tangents to a circle which are parallel to a secant is
a) 1 b) 2 c)3 d) 4

. In the figure AB, AC and AD are tangents. If AB=5cm then AD is
a) 4cm  b)5cm  c)6cm  d) 3cm

. If the radii of two concentric circles are 6cm and 10cm then the length of each chord of one circle which is
tangent to the other circle is cm
a) 8cm b) 16cm c) 10cm d) 6cm




14. In the figure RQ is a tangent to the circle with centre O. If SQ=6cm , QR=4cm then OR s
a) 4cm b) 5cm c) 6cm d) 6cm Q

(b

S

15. PA and PB are the tangents drawn from external point P to the circle if angle APB = 60° then APAB is
a) Rightangled A b) Equilateral A
c.) Acute angled A d) Isosceles A
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=BA

]

8cm &xWY 733, 10, VOIS 17cM BRTBOT FIFITF, F$0T TTFIT I, S8R
a)5 b) 9 c) 15 d)23

2,00 5@%@ m&s LOTNNVOT AVCHN WO astmﬂ 30935
a)2 b) 1 c)3 d) 4

O 3coTm¢ B33 P RODO0T 293 33FF PQ A OPQ.om Fdipma swd POQwed
a) 30° b) 45° c) 60° d) 90°

3.5cm guRY $PRY 20B BBPOIT IBFING IBII BRTY)
a) 7cm b) 14cm c) 3.5cm d) 1.75cm

2,00 5@%@ RBOD WITOD ﬁ@% pStnwpletcie! aprsn%
a)l b) 2 c)3 d) 4

O%eo@@% Q)gﬁ maa@om AQ0T YT ITFIT NWTH)
a) c3ozney OANOE BRTT b) OA & =0
c. oiwmenes OA NOZ 8IW d) OAR ZBY

BIBY Smne SBOT deesny) 130°5T8 FFT IFFINY IBOT deeIR)
a) 90° b) 50° c)70° d)40°

DT 0T FeoDLON JBNY SRAW  5cm DT 3cm STT 33, [T, BOFRT IJFTT T
a) 8cm b) 10cm c)12cm d)18cm

BT AP = BP rigd 33F3nsh w3 dnes APB ) dnes AOBRY ©63%)
a) 80° b)100° A

) 180°  d) 360° Q>P

B
. BB 3008003 5cm BRTTINS LRTROD AT H¥T ITFIB WP 4cm ST ITA SxT w9

a) 2cm b) 3cm c) 4cm d)1cm

BIRY IenFE A[POTTTONS BIFIT KO,
a)1 b) 2 c)3 d) 4

. 88BY  AB, AC03 ADisd 33F3ned AB=5cm <33 AD evg
a) 4cm b)5cm c) 6cm d) 3cm

. RO DBFCOLLOD FINT BN FzHwoN 6cm D) 10cm STT 2,00 BZF, 23, BTT IR0 I3
3BEIT W)
a) 8&cm b) 16cm c) 10cm d) 6cm

- 883Q 03conRY BB B3Fsy RQ 8N SQ=6cm, QR=4cm T3 OR 3 w98
a) 4cm b) 5cm c) cm d) 3cm Q

(b

S




15. PA D3 PB7ish 30w P03 ©338 90 I3Fnsd APB = 60° 33 APAB 030
a) o3RS A b) Z@oeTvHA
C.) oTOBRTA d) QI A
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CO-ORDINATE GEOMETRY

1. The distance of a point from x-axis is
a) Ordinate b) abscissa c) Coordinates d) Origin

2. The distance of a point from Y-axis is
a) Ordinate b) abscissa c) Coordinates d) Origin

3. In which quadrant does the point(x>0,y<0) lie
a) First quadrant b) second quadrant c) third quadrant d) fourth quadrant

4. The Coordinate points of Origin is
a) (xy) b)(x1,y1) c)(m:n) d)(0,0)

5. The distance of a point P(4,3) from Y-axis is
a) 4units b) 3units c) Sunits d)7units

6. The distance of a point P(4,3) from X-axis is
a) 4 units b) 3units c) Sunits d)7units

7. Which of the following is a point on Y-axis is
a) (-3,7) b) (0,3) c) (3,0) d)(0,0)

8. Which of the following is a point on X-axis is
a) (-3,7) b) (0,3) c) (3,0) d)(0,0)

9. The distance between Origin and a point P(x,y) is

a) Vx%+y? b)yx% —y?% ) xx+Yy> d) X2 —y2

10. The distance between Origin and a point Q(6,8) is
a) 10 units b)6 units )8 units d)14 units

11. The distance between two points A(xy,y1) and B(xy,Y>) is
a) \/(Xz —X1)%+ (y2 —y1)? b)\/(xz +x1)% + (y2 + y1)?
C)\/(Xz +x1)% = (y2 —y1)? d) \/(Xz —x1)% = (y2 + y1)?

12. The distance between two points A(2,3) and B(4,1) is
a) V52 units b) V8 units c)V12 units d)v20 units

13. The distance between two points A(a,0) and B(0,a) is
a) a2 units b)2 VaZunits c)va units d)v/2a units

14. The distance between two points A(a,b) and B(-a,-b) is

a) 2+/ab units b)Va? — b? units c) 2vVa? + b?units  d) 4va? — b?units

15. In a Coordinate plane A(3,4) ,B(6,7) C(9,4) and D(6,1) are the vertices of a Square,
its diagonal is
a) 10 units b) 6 units c) 8 units d) 14 units




16. The Coordinates of the point P(x,y) which divides the line segment joining the points A(x1,y1)
and B(x,,y,) internally in the ratio m:n are
) (mx2+nx1 my2+ny1) b) (mxz—nxl myz—ny1)
a m+n ' m+n m+n '’ m+n
C) (mx2+nx1 my2+ny1) d) (mxz—nxl myz—nyl)

m—-n ' m-n m-n ' m-n

17. The Coordinates of the mid-point P(x,y) of line segment joining A(x1,y1) and B(x,,y,) are
a) X1+Xp; yi1ty2 b)X1—X2 y1i—Y2 \X2+Y2 x*—y? d)yz—XZ YZ‘; x?

C
2 7 2 2 7 2 oy 7 2 2

’

18. The Coordinates of the mid-point P(x,y) of line segment joining A(5,2) and B(7,6) are
a) (1,2) b) (4,16) c) (6,6) d) (6,4)

19. In what ratio does the point (-4,6) divides the line segment joining A(-6,10) and (3,-8)

a) 2 b}~ e d)=

20. In what ratio does Y-axis divides the line segment joining (-3.-4) and (1,-2)
a) 1:3 b)4:3 c)3:1 d)3:4

21. In a Coordinate plane A(xy,y1) , B(x2,y2) and (xs,y3) are vertices of a triangle , Area of
the triangle is

a) A=3 [0 ~y3) = %(ys — y1) ~ 3 (v1 — y5)]
b) A=Z[x1(y2 = ¥3) +x2(y3 = y1) — x3(y1 — y2)]
o) A==[x;(yz —¥3) +x2(y3 —y1) + x3(y1 — y2)]
d) A=-[x;(yz —¥3) —x2(y3 —y1) + x3(y1 — y2)]

2
1
2
1
2
1
2

22. A(0,0),B(1,0) and C(0,1) are vertices of a triangle , Area of the triangle is
2 1 -1

23. A(x1,¥1) , B(x2,y2) and C(xs,ys) are vertices of a triangle respectively, if AC<AB#BC,then the
triangle is
a) Equilateral triangle. b) isosceles triangle
c) right angle triangle d) scalene triangle

24. A(x,y1) , B(X2,y2) and C(xs,y3) are vertices of a triangle respectively, if AC’=AB*+BC? then the
triangle is
a) Equilateral triangle. b) isosceles triangle
c) right angle triangle d) scalene triangle

25. A(x1,¥1) , B(x2,y2) and C(xs,ys) are vertices of a triangle respectively, if AC=AB =BC, then the
triangle is
a) Equilateral triangle. b) isosceles triangle
c) right angle triangle d) scalene triangle

26. A(x1,Y1) , B(x2,¥2) ,C (x3,y3) and D(x4Y4)are vertices of a quadrilateral respectively,
if AB? =BC2, and BD? =AC2, then the quadrilateral is
a) Square b) Rectangle c) Rhombus d) parallelogram




27. A(x1,Y1) , B(x2,¥2) , C(x3,y3) and D(xays)are vertices of a quadrilateral respectively, if AB% =BC?,
and 2AB% =AC?, then the quadrilateral is
a) Square b) Rectangle ¢) Rhombus d) parallelogram

28. A(x1,Y1) , B(x2,y2) C(x3,y3) and D(xsyas)are vertices of a quadrilateral respectively, if AB°#£BC?,
and AB%+BC? =AC?, then the quadrilateral is
a) Square b) Rectangle ¢) Rhombus d) parallelogram

29. A(x1,Y1) , B(x2,y2) C(x3,y3) and D(xsys)are vertices of a quadrilateral respectively, if AB>%£BC?,
and BD” =AC?, then the quadrilateral is
a) Square b) Rectangle c) Rhombus d) parallelogram

30. The co-ordinates of the mid point joining points A(2, 3) & , B(4, 7) is
a) (3, 5) b) (5, 3) c) (-3, -5) d) (6, 10)
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QTETOT TeaRisss

L. x—@gpocj WOTNANTD mcwmol
A) 00w TRT B) $8%000 C) ATesr 003

2. Y-e:v?pozﬁ QOTINTT TRTB/ZY,
A) ©02) TRT B) 38x3R0 C) ATes 003 D) 300000

3. QO (x>0, y<0) ) 03PT WRAFFTTY WS
A) ZRTOIOD BATFT  B) ATBIOD BAFET C) DRTIOD BI0TET D) me%éoﬁo BT

4. DROVOTVNT AT T00INLD
A) (x,y) B) (x1, y1) C) (m:n) D) (0, 0)

5. P(4,3) QTeFT008R) Y-@géod QX TRT
A) 4 TRIND B) 3 Sosnsd C)5 TIND D)7 SIRIA

6. P(4,3) ATeFT00%R) X 93000 QT [T
A) 4 JINYD B) 3 S5o3ned C)5 IIND D)7 S3INnd

7. FBNT OCRE ITCFTOTRY) Y- w33 =0eDT

8. 3YNT O3B/ Ter 0T X- ©IT eI
A) (-3,7) B)(0,3) 0) (3,0) D) (0,0)

9.P(X, Y)ROTNRNA0T IIROWOTNNNTVE TRT
A) {/x?% +y? B)JWXx? —y?2 C) X2+ Vs

10. Q(6,8) WOTNRNIOT WWROWOTNNNTIVE TRT
A) 10 TRIND B) 6 J3ned C) 8 =IND D) 14 Jo3ned

11. A(X1,Y1) & B(X2,Y2) 20T0NY IEAT TRT
A) (x; —x1)% + (y2 — y1)? BV (x2 +x1)2 + (y2 + y1)?
C) \/(Xz +x1)? — (yz - y1)2 D) \/(Xz —x)? = (y2 +y1)?

12. A(2,3) & B(4,1) 20T0ME ITNT THT
A) V525mIned B) V8x3smsh C)V12:m3ned DV20=msR%h

13. A(3,0) & B(0,a) ROTHNS SFHDT TRT
A) aV 2SN B)2Va? Zwansd  C)Vammsned D)V2ammsnsd




14. A(a,b) &B(-a,-b) DoAY BT BT
A) 2Vabsmanes  B)WaZ — b2msmans  C)2vVaZ + b2 Swans D) 4va? — b? Swsned

15. 2,080 JTeFTOT BDIOT eI INFT Jonned A(3,4) ,B(6,7) C(9,4) & D(6,1) BNa3.
& DINET DTFD YT,

A) 10 TIND B) 6 503N C) 8 TINL D) 14 S3IND

16. A(x1,y1) &B(xz,y2) QOTONTI, X0 5@35@9305355301 $080FON Min BNTSTY

QNN P(X,y) ONRNT AT T0IND

A (mx2+nx1 my2+ny1) B) (mxz—nxl myz—nyl)
m+n ’ m+n m+n ' m+n
) (mx2+nx1 my2+ny1) D) (mxz—nx1 myz—nyl)

m-n ’ m-n m-n ’ m-n

17. A(x1,y1) &B(xy,y2)R00TdNYR), FedRE TeaworT DFROT P(x,y) QTeFTOBNLD

X1 +X + X1 —X _ 2 +v2  x2—y2 2_42 y24 2
A) 117Xz YV11Yy2 B) 1—X2 Y1—Y2 C) y y D)Y y

2 2 2 7 2 P 7 2 2 7 2

18. A(5, 2) &B(7,6)00T0NY=, HeORW TeaovDOBT mzsa@om P(x,y) T3 T00TNRD
A) (1,2) B) (4, 16) C) (6, 6) D) (6, 4)

19. A(-6,10) &B(3,-8)R0TdNEZ, ReOROT 6@@@93053553& (-4,6) WO RVPT/ VTPITY VLPNZIZTY]
2 7 -7 -2

20. (-3.-4) &(1,-2)00T0R$R), FOMT SeaDOBF) Y-F[, 0IRT SHTSFE APATIT
A) 1:3 B) 4:3 C)3:1 D) 3:4

21. 2,000 ATeF 0T BNIOT @S A(xy,y1), B(Xa,y2) & (x3,y3) 82302 3,0Nned ST3 & 30T
@?}GE‘@F

A)A =[x (72 = ¥3) = X2(y3 = y1) = %3 (1 — y2)]

B) A =2 [x: (v = ¥3) + X2(y3 — y1) — X3(y1 — y2)]

Q) A=-[x1(y2 — ¥3) + X2(y3 — y1) + x3(y1 — y2)]

D)A==[x1(y2 = ¥3) = %2(y3 — y1) + x3(y1 —y2)]

22. 2,00 &R%T Fonnsd A(0,0),B(1,0) & C(0,1) ST SPRT QDRCEDE
2 1 -1
A) 3 B)E C)T D)0
23. 2,00 $ERT FONND TVWONA(X1,Y1), B(X2,¥2) & C(x3,y3) &N AC=AB+#BC, 803, & &30uw)

A) BT &30 B)ZS00em o C) ®odRes &g D) 93000 g0

24. 2,00 $FbuT JONND FR0mN A(xy,y1), B(xa,y2) & Clxs,ys) €N mone AC’=AB*+BC?,
SinleBICRIEIA by
A) AT &0 B)xm%mw JETANTA C) oow3ReT &N D) 930 T &0




25. 2,00 $gR%RT ZONNAD 3TN A(xy,y1), B(xz,y2) &C(xs,y3) NS Tone AC=AB =BC, $T3
Sy
A) BRI DT B)TTOQRT ST C) ®owdRes &g D) 93000 &0

26.2.000 BRPEET FORNL FITNA(XLY1) , B(Xa,y2) ,C (Xs,y3) & D(xsysj@orie AB?=BC,
& BD? =AC?, 7 330305 %)
A) INnE B) <0303 C)w@%@% D)3R3003T WB0LNF &

27. 2,00 BIRPEET FONNL 3ITNA(XLY1) , B(xa,y2) , C (Xs,y3) & D(xsys)morieAB? =BC,
I 2AB? =AC’, 533, =R BRERDFERT
A) I_nE B) s03h3 C)ez3,@ D)AR3003T WI0LNF S

28. 2,000 BAPFRT JONNRKD FZ@N Alxyy1), Ba,y2) C(Xsys) & D(xays) NS, AB*#BC’, &
AB%+BC? =AC?, T3 =1t @3ddermw)
A) INE B) <0303 C)w@%@% D)3x=3003T B30LNF &

29. 2,000 BRRPFHT FONNL 3TN A(x,y1), B(xa,yz) C(x3,ys) & D(xsys)snaS AB’#BC,
and BD? =AC?, 5338 &7 @330ede %)
A) I_nE B) =033 C)ez3,@ D)AR3003T WB0NF X

30. A(2, 3) & B(4, 7) ©20TONY, SDEWOHAT ATEF TOIRL0
A) (3. 5) B) (5. 3) C) (=3, =5) D) (6. 10)
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QUADRATIC EQUATIONS

. The general form /standard form of quadratic equation is
a) ax’+bx+c=0 b) ax*+bx+c c)ax’+c=0 d) ax+b=0

Any equation of the form P(x)=0 ,where P(x)= ax*+bx+c is called as
a) Linear equation b) Linear polynomial  c¢) Quadratic polynomial d) Quadratic equation

Number of possible solutions of quadratic equations are
a) At most 2 b) at least 2 c) exactly 2 d) less than 2

false statement of quadratic equation is
a) a0 b)a=0 c)b=0 d) b0

which of the following is an example of Quadratic equation

a) m(m*1)=0 b)x2+§=3 A)x*-1=0 d) =+ —2

X T a2

3

which of the following is not an example of Quadratic equation

- 1_ 3.1= 1i_2 _
b) m(m-1)=0 b)x+x—3 c)x -1=0 d)x+(x_2)

3

Standard form of Quadratic equation xTH == is
a) x(x+1)=2 b) x* +x +2=0 c)x*+x-2=0 d)x*-x +2=0

Standard form of Quadratic equation x + % =3 is
a) X*-1=3x b) x* -3x +1=0 c) x* -3x -1=0 d) 3x* -3x +1=0

Which of the following concepts cannot be expressed as Quadratic equations
a) Areaof acircle b)areaofatriangle c)areaofarectangle d)volume of acube

. “Product of two consecutive positive integers 12” ,quadratic equation of the statement is
a) x(x+1)=12 b) x(x-1)=12 c) x(x+2)=12 d) x(x-2)=12

. . . 10 . . .
. “sum of a number and its reciprocal is 5 ", quadratic equation of the statement is
0 1_10 1_10

10
a) a+a’ =— b) x* + x =— ) x +-==— d) x- -=
3 3 X 3 X 3

. Name of graph of Quadratic equation is.
a) Hyperbola  b)parabola c) ellipse d) straight line

. Roots of the quadratic equation ax*+bx+c=0 is
—-b+VbZ-4ac —-b+VbZ-4ac
= b) x = — e c)x

d) b? -4ac
2

a) x

__ —b—Vb?-4ac
- 2a

. Roots of the Quadratic equation (x-4)(x-3)=0 are
a) (4,3) b) (-4,-3) c) (4,-3) d) (-4,3)

. Quadratic formula suits well only when discriminant ( A )is
a) Greater than zero b)equaltozero c)both (a)and (b) d)neither (a) nor(b)




. Quadratic formula suits well only when discriminant b?-4ac is
a)>0 b)=0 c)both(a)and(b) d)neither (a)nor(b)

. In a Quadratic equation if b? -4ac is zero, then the roots of the equation are

b —-b _
a) 32 b) 72 )% d)=*

. The discriminant of the equation ax*+bx+c=0,where a and b=0 is

a) 2RYPtac bo-tac b) ax’+bx+c c) b® -4ac d) X’ —(a+b)x + ab =0

2a

. In a Quadratic equation X2 -7x +12 =0, if b? -4ac is 1, then the roots of the equation are
a) (3,4) b) (-3,-4) c) (-3,4) d) (3,-4)

. If discriminant of a Quadratic equation ax*+bx+c=0, is A=Othen nature of the roots is
a) Distinct and real b) Equal and real c) Complex or imaginary d) None of these

. If discriminant of a Quadratic equation ax*+bx+c=0, is A>0, then nature of the roots is
a) Distinct and real b) Equal and real c) Complex or imaginary d) None of these

. If discriminant of a Quadratic equation ax*+bx+c=0, is A< 0, then nature of the roots is
a) Distinct and real b) Equal and real c) Complex or imaginary d) None of these

. In a Quadratic equation 2x* —6x + 3 =0, if b*-4ac is 12, then nature of the roots is
a) Distinct and real b) Equal and real c) Complex or imaginary d) None of these

. In a Quadratic equation 2x* —3x + 5 =0, if b* -4ac is -31, then nature of the roots is
a) Distinct and real b) Equal and real c) Complex or imaginary d) None of these

. In a Quadratic equation 3x> — 4/3x + 4 = 0, if b -4ac is 0, then nature of the roots is
a) Distinct and real b) Equal and real c) Complex or imaginary d) None of these

. A Quadratic equation 2x* +kx + 3 = 0 has equal roots ,the value of ‘k’ is
a) 2 b) 2v6 c)3 d) 6

. A Quadratic equation kx(x-2) + 6 = 0 has equal roots ,the value of ‘k’ is
a) 2 b) 2V6 c)-2 d) 6

. While solving Quadratic equation by factorization method ,key step is to convert it into
a) Linear equation b) Quadratic polynomial c) values of a,b,c d) factors

. While solving Quadratic equation by method of completing square ,key step is to convert it into
a) (a+b)?form b) (a-b)* form  c) (x+a)® — b? form d) ax*+bx+c=0 form
. . . 1_10
. Constant in the quadratic equation m + —==
a) 3 b) -3 c) 10 d)30
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[N DRCTTLAND

WNE RNCTTLOT STJETRD

a) ax’+bx+c=0 b) ax’+bx+c c)ax’+c=0 d) ax+b=0

ST 2.0 WRTRReEDH P(x)=0 ,wR  P(x)= ax’+bx+c &,
a) demé@% TeNe3TED b) demé@% WIDIRREE €) JNE WTDTRReY d) INE BeITED

20T JINE xmsm-@ QT TOTOTNRY :30935
a) nogm 2 b)3AZ2 ) se[o 2:wE  d) 2508 A

BVt ‘5&3@%69@%& ROWORATIOZ BTT Hevs
a) a#0 b)a=0 c) b=0 d) b+0

3YNT O309W ACFTEDY [ME ACFTEOF, LVIPTTFH BNY

2 4y _ 2,1 _ 3 1= 1 Z __
a) m(m"-1)=0 b)x+x—3 c)x -1=0 x+(x_2)

3

FPNT OSVE FENCITERY) WNE 5&3@559@% QVTRTTTH  SNT

b) m(m-1)=0 b)x+x—3 c)x -1=0 x+(x_2)

3
xTH = %5371? TNCTTRT STJE TRI
a) x(x+1)=2 b) x* +x +2=0 c)x*+x-2=0 d)x*-x +2=0

X+ = 337F ADETHT STIF I
a) X*-1=3x b) x* -3x +1=0 c) x* -3x -1=0 d) 3x* -3x +1=0

BENT 0I0T TEPIOIN [NF BWETTEOT TEYIOIWN [T BRFPMPNY
a) [BT QAer b) SPwT Drerer ) SODBT Qacter  d) PIT FIFO

‘DT RPN FI TRFFOINY Mooy 127,88 Tewdohd, TNE FAesTre SRITY witen
a) x(x+1)=12 b) x(x-1)=12 c) x(x+2)=12 d) x(x-2)=12

. .o :30935 B ©TT Q%e%@mﬁ@é BR3P 13—0", BTN
10

a) a+a’=— b) x% + x = Q) x +==2  d) x--==
3 3 x 3 X 3

. TNE BRCFTT JFOH T
a) ﬁéwcf Bpewe  b)TOBOCD ) eFE [BOFO d) xo¥deas

. ax’+bx+c=0 F[NE B0CFTLO DPORD

__ —b+Vb2?-4ac —b+Vb2-4ac
- 2a 2a

__ —b—Vb?-4ac
- 2a

a) x b) x = c)x d) b? -4ac

. (x-4)(x-3)=0 INnF DNCITLD TBURONL
a) (4,3) b) (-4,-3) c) (4,-3) d) (-4,3)




L BNE "ERETTHT BRTF 83 IYNT 3= 3eers BSH ZeTZNS.
a) 3pE &S 0’ No8 BB swEnR b)) 3eers 8BS 0 TR soen
) (a) = (b) d) (a) 3y (b) cPITe A

L BE RODITOT BRTH) S FUNT 0IRT FeqE BOR BeFTRNG. b? -dac is
a) >0 b)=0 c) (a) =2 (b) d) (a) 3 (b) IRITR 2L

. BRF BWeFTERT FRoNYY b’ -4ac 030 BRI ADTTBT BWTTOT HRONRWD
b —-b 2a —2a

) % *)2 i S

. ax’+bx+c=0, (2@ a BB, b A ARIR IHWONY) SR FWBTRT BReGT B

a) —b+vb2-4ac

v b) ax’+bx+c c) b?-4ac d) x> —(a+b)x + ab =0

X2 -7x +12 =0, InF ZawegonY b -4acis 1, sT3 BaeITT BRORH
a) (3,4) b) (-3,-4) c) (-3,4) d) (3,-4)

. ax’+bx+c=0, Irte BWesTRT 3REFIT 33 0 (Ard) 1§ TDTT RWTTOT DRONY B0
a) PFR D) VI, b) &R Ry T ¢) v BOBNRWD d) c3RPYTRe ©Y

. ax’+bx+c=0, IRF ReFTT BS (b*-4ac>0), BTI FWCITHRT WRORY Fos
a) IR D), VI, b) &Rz By T €) v BOBNRWD d) c3RPYTRe ©Y

. ax’+bx+c=0,30F ReITT BeREd WS (b-4ac <0) STI RWETTLT HRONY B
a) PFI W RS, b) oR= =B B C) TP xog%ri%fo d) c3pnce ©Y

L2 —6x+3=0,3nF BWe3Snd b’ -dac = 12, T3 BaEITROT SRORY B3
a) PFI W RS, b) oR= =B B C) TP xog%ri%fo d) e ©Y

2% = 3x+5=0,3nF BWe3send b’ -4ac = -31, 5T3 NEFTHRT RN TanEy
a) IR D) VI, b) &R Ry T ¢) v BOBNRWD d) c3RPYTRe ©Y

.3X* —4V3x + 4 =0, 30F ReFTTY  b? -4ac =0, STI FeITHT WRONS TP
a) DI W DI, b) oR= =B B C) TP xog%ri%fo d) c3pnce ©Y

. 2X2 +kx + 3 = 0 BN BaNCTTR) BT BRONT, BROVTT ©nit k'S 8BS
a) 2 b) 2V6 c)3 d)6

- kx(x-2) + 6 = 0 BRF FWeFTRF) BRTOT FRONTI, TBROOTFT wnt k'3 i8S
a) 2 b) 2V6 c)-2 d)6

. 20T WRFARCTTEOBI), WIVIES LPOIVOT WRAN aﬁaa@%mﬂ 85 TOTWI, ORORLeR.
a) Teaopgs BCFTL0ON TOBEF RO b) SRF WTTJBREEOITON TOBEF W
c) a,b,cod BSnwEN TOTSF RO d) ©TIIEInToN TOTSF RO




29. 20T FeNCFTEOWD, WNE TUREDE RRYT ATOIN0T WRRTIN mgaémﬂ [N ANCFTEODT, 83
De&03N FOWSF HLIeHD

a) (a+b)’cemm™A  b) (a-b)Bemon ¢ (x+a)’ — b? dezmen d) ax*+bx+c=0 SeZmon

30.m + % = %mscsm@ 3,00083
a) 3 b) -3 c) 10 d)30
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INTRODUCATION TO TRIGONOMETRY

1. For an acute angle ‘0’ if sin 8 = %, then the value of cas 0 is
5 16 4
A) 3 B)E (©)) :

2. If 9:900, then the value of sin” 8+cot” 8 is
A2 B)1 0

3.If A is an acute angle, then sin (9OO—A)=
A) casec A B) sec A C)tan A

4. Sin’A + Sin® (90°-A)=
Al B) 0 C) sin 90°

5. For an acute angle ‘0’ if 2sin 8 =1, then the value of 0 is
A) 45° B) 60° C) 30°
6. Sin*30° — cos?60" is

1

A)% B)0 C)—

7. tan 0° =
A) sin 90° B) cos 0° C) cos 90°

8. The value of tan 40° — cot 50° is same as _
A) sin 90° B) cos 0° C) cos 90°

9. If 8 =30°, then sin .secld =
N2 B3 C)

il
V3

10. sin 900, cos 90 is
A) tan 90° B) cos 0° C) cos 90°

11. (14cos 8) (1-cos 8) =
A) sin® 6 B) tan’ 6 01 D)0

12.sin A.cos A.tan A +cas A.sin A.cot A=
A) sin’A-cos’A B)tan’A+cot’A C) sin®A+cos’A D) sin’A-+tan’A

13. If 1-cos> 9:% then the value of sin 6

A)? B): o1

14. 2 cos =1 and ‘@' is an acute angle then the value of ‘6’
A0’ B) 30° C) 45°

15. If sin 9:% then the value of cosec 0

A B) )

16. If sin 8= cos 6 then the value of @ is
A) 0° B)30" C) 45°




17. Maximum value of sin ‘9’is

B)“Z—§

2
A) %

18. The value of cos 48° — sin 42° is
A) 0 B) %

19. If 13 sin @ =5 then the value of tan 0
NG B)—
12 5

tan 659 .
20. The value of
cot259

A2 B) 0 01

21. In the figure < B =9OO, AB=6cm, BC=8cm and AC=10cm then the

value of sin(90- 0) is

A= B)= O~ D) —
10 6 8 10

22.If 2sin 2 6 = /3 the value of '’ is
A) 90° B) 60° C) 30° D) 45°

23. If tan A = % then the value of 4 cot A is
1 3
A) 3 B) "

24. If v/3 tan A=1 then the value of < A is
A) 60° B) 30°

25. The value of tan> 60° is
A)V3 B);

26. The value of 1+tan>45° is
A0 B)2

27.If sin 2A =2 sin A is true when A =
A) 0° B) 30°

28. The value of 9 sec> A — 9 tan® A is
Al B)9

29. The equal value of cos A is

A) — B) —

cosec A secA

30. (sin A + cos A)2 is equal to

A) sin*A+cos’A B) 142 sinA.cosA  C) sin*A-cos’A D)1-sin A.cos’A

31. The value of (sin 45° — cos 45°) is
A)O B) 1 D)2

32. cosec 60° =

INE B)2 D)?




sin 6

33. =
cos @
A)sec 6 B) cot 6 D) cosec 8

34. If cosec =2 then sin @ = __
A) % B) 2 C)3 D)

L
V2

35. In the figure the values of cos 8 and tan f in order
A)% and % B)% and % C)% and %

36. The value of tan 30° x cot 30°
1
A)V3 B) = 0)3

37. The value of sin® 60° + cos” 30° — sec” 0°
A) 1 B)> oF D)3

38. sin’0 + cos 20 =
A) tan® 6 B) 1 C) sin’0 D)0

2 tan30°
" 1+tan2300

A) sin 60° B) cos 60° C) tan 60° D) sin 30°

1-tan?45°

" 1+tan2450

A) tan 90° B) 1 C) sin 45° D)0
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SRReT0S saSBad

1. ‘0 2.0 @50%@@3@?\53%, sin 8 = %, B33 cos 023¢3
5 16 4 25
A3 B)s O3 D)7

2. 0=90°, es3on sin® O+cot” @ is
A)2 B) 1 0) 0 D) N.D

3. Aoshdnesmomon, sin (90°-A)=
A) cosec A B) sec A C)tan A D) cas A

4. Sin’A + Sin® (90%-A) 3 2363 =
A)l B)0 C) sin 90" D) 2 sin’A

5. 0° 2.0 @mmmmm%, 2sin O =1, 333 ‘@' T 233030
A) 45° B) 60° C) 30° D) 0°

6. Sin230° — cos?60" is
INE B)0 o= D) 1

2

7. tan 0%3€3030 =
A) sin 90° B) cos 0° C) cos 90° D) sec 0°

8. tan 40” — cot 50°0 S0 B FNT BRYTE, TN,
A) sin 90° B) cos 0° C) cos 90° D) sec 0°

9. 6 =30°, 333 sin .secH 33030 =

A) g BW3 ) D)

2 L
V3 V3

10. sin 90°, cos 90°
A) tan 90" B) cos 0° C) cos 90"

11. (14cos 6) (1-cos )R FTTITTD
A) sin® 6 B) tan’ 6 01 D)0

12.sin A.cosA.tan A +cos A .sin A.cCot ANl IDVTOTZTN
A) sin’A-cos’A B)tan’A+cot’A C) sin®A+cos’A D) sin’A-+tan’A

13. If 1-cos> Q:Zwmﬁ sin 03 23¢3

AR B): o1

14.2 cos =1 & ‘B'0oz080e3753033 ‘07 T 33
A) 0° B) 30° C) 45°

15. sinH:E &350 cosec O3 2363
4 5
A) g B);




16. sinf=cos 0 =3T3 ‘0'c e3¢,
A) 0° B)30°

17.sin ‘0’3 ﬁbe,"’% 23e3

V3
B)7

2

A) &
18. cos 48° — sin 42°3 o33,
1

A)O B) -

19.13 sin 8 =5 333 tan O3 e3¢5,
5 12
A B+

tan 659

20. —=w0 2

cot259

ANV2 B)0 Ol

21. %Jaéédaw ¥R < B =90°, AB=6cm, BC=8cm & AC=10cm
esont sin (90- 0) T o33
10 10
B)? C)?

22. 2sin2 0 =+/3smR '0' 33
A) 90° B) 60° C) 30°

23. tanA:%@:&tﬁé’ 4cot AT B¢
1 3
A); B)>

24. \/3tan A=1 ST3< A33030
A) 60° B) 30°

25. tan” 60°03 233030
A)V3 B);

26. 1+tan®45%3% 33030
A)O B)2 0)3

27.sin 2A =2 sin A 2020 A IS 030xm 233R m’ésmﬂtﬂ
A) 0° B) 30° C) 45°

28. 9sec’ A —9tan® A 0 2383030
Al B)9 0)8

29. 39NIPNEYY cos AR DT

A) — B) —

cosec A secA

30. (sin A + cos A)* A FTOD
A) sin*A+cos’A B) 142 sinA.cosA  C) sin*A-cos’A D)1-sin A.cos’A




31. (sin 45° — cos 45%) o3 23¢3
A)O B) 1

32. cosec 60° =
A) % B)2 D)

V3
2

sin @

33. =
cos6
A)sec 6 B) cot 6 D) cosec 8

34. cosec=2 33 sin B = __

INE B)2 03 D)

35. 83BY cos PN tan fRY BSSNE FdemN
INEL X B)Zg= C)lg2
5 4 3 5 5 3

36. tan 30° x cot 30°%03 23¢3
1
A)+/3 B) = 0)3

37. sin® 60° + cos? 30° — sec? 0% 233
3 1 5
A)l B) 5 O > D) 3

38. sin’0 + cos 20 =
A) tan’ 6 B) 1 C) sin’0 D)0

2 tan30°
" 1+tan2300

A) sin 60° B) cos 60° C) tan 60° D) sin 30°

1-tan?45°

" 1+tan2450

A) tan 90° B) 1 C) sin 45° D)0
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STATISTICS

1. The average of three numbers is 5. If the sum of the first two numbers is 6, then the third number is

A)S

B)9

C) 15

2. The class mark of the class interval 20-25 is
B) 22 and 23

A) 22

C) 225

D) 21

D) 23

3. For a frequency distribution mean, median and mode are related as
A) Mode =3 mean — 2 median
C) Mode = 3 median — 2 mean

B) Mode = 2 median — 3 mean
D) Mode = 3 median +2 mean

4. For the following distribution the modal class is

Class Interval

5-10

10-15

15-20

20-25

25-30

Frequency

6

8

6

10

5

A) 5-10

B) 10-15

C) 20-25

5. The mean of the first 10 natural numbers is

A)S

B) 10

C) 20

6. If the mean of 5, 7, 9 x is 9 then the value of x is

A) 1l

7. The mode of the distribution 3, 5,7,4,2, 1,4, 3, 4 1s

A)7T

B) 15

B)4

C) 18

3

8. The median of the first 10 odd natural numbers is

A) 10

B) 8

c9

9. Which of the following is not a measure of central tendency

D) 25-30

D) 19

D) 16

D)1

D)11

A) Mean B) Median C) Mode D) Range

10. In the distribution the frequency of the class 0-5 is

Class interval

0-5

5-10

10-15

15-20

20-25

Frequency

8

5

3

2

4

A)8

B)5

0)2

D)4

11. In the given frequency distribution table the median class is

Class interval

0-10

10-20

20-30

30-40

40-50

Frequency

5

8

12

15

20

A) 10-20

B) 20-30

C) 30-40

12. Mid point of the class interval 10-20 is

A) 15

13. Mean and Median of the distribution 10 and 11 respectively. Then the mode is

A) 15

D) 0-10

B) 14

B) 13

0) 12

C) 14

14. Formula to find the mode of grouped data

AL+

O L+

fi-fo
2f1-fo-f,

f1+fo
2f1-fo-f,

1xh
1xh

B)L—|
D)L+ [

fi-fo

2f1 —fO—fz
fi-fo
2f1+f 0+,

D) 10

D) 16




15. Formula to find the mean of classified data in direct method.

Xfi X Xfix;
A) XX B) Xfi © Xfi

16. Height of the class interval 50-60, 60-70, 70-80 is
A) 30 B) 50 C) 20

17. Observe the graph and find the median

A) 20 B) 30 C) 25

18. The mean of x+3, 2x+6 is 15 then the value of x is
A)3 B) 0 O 7

19. In a grouped data cumulative frequency is used to determine
A) Mean B) Median C) Mode

20. The mean of 5 scores is 6 then the sum of all scores is
A) 1l B) 36 C) 30

D) XX

D) 60

D)9

D) Mid point

D) 42

21. In this given frequency distribution lower limit of the modal class interval

Class interval 0-10 10-20 20-30 30-40

Frequency 3 7 4 2

A)8 B) 10 0)9

22. Median of the following data 14, 18, 10, 12, 19, 16, 9, 13, 17
A) 14 B) 19 O) 16
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D) 30

D) 12




m)a:aggmé
=)

1. 3R BoBNY BTIFOOIW 5 SNT. BRTO HTWE BOBNY BRI 6 STBT BRTZOD BOZ0IW
A)S5 B)9 O) 15 D) 21

2. 20-25 IMoF 03T mc%wom
A)22 B) 22 303 23 C)22.5 D) 23
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SURFACE AREAS AND YVOLUMES

. When two hemi spheres of same radius are joined the surface area of the solid formed is
a) 3nr?b) 4nr? c) 5mr? d) 6mr?

. The base of the cylinder is 80sq cm. If its height is 5cm then its volume is
a) 200CC b) 80CC c)100CC d)400CC

. If the volume of cube is 343cm? then its edge is
a) 9cm b) 8cm c) 49cm d) 7cm

The number of lead balls each of radius 1cm that can be formed from a sphere of radius 8cm are
a) 380 b) 400 c) 512 d) 225

The ratio of volume of a cube to that of sphere which will exactly fit inside the cube is
a)m:8 b)6:m c)m:2 d8:m

The largest possible sphere is curved out from a cube of 7cm side. The volume of the sphere will be
a) 179.66 CC b) 185CC  c¢) 145CC d) 125.55CC

. The volume of cuboid where length, breadth and height are 12cm, 8cm and 6cm is
a)568CC  b)576CC c) 576sqcm d) 570CC

. A cylinder, a cone and a hemi sphere are equal base and same height. The ratio of their volumes is
a) 4:5:7 b) 3:1:2 c)1:2:3 d)3:2:1

9. The diameter of a spare is 6cm. It is melted and drawn in to wire of diameter 2cm. The length of wire is
a)36cm b) 18cm c) 66cm d)12cm

10. If the surface area of the sphere is same as the CSA of a right circular cylinder where height and diameter are
12 cm each then radius of sphere is
a)12cm b) 8cm c) 6cm d) 3cm

11. C.S.A of core where radius is 3cm and slant height 7cm is
a) 33cm’? b) 44cm”®  ¢) 55cm’ d) 66cm”

12. If the perimeter of base of cylinder is 44cm and height 10cm then C.S.Ais
a) 340cm’ b) 440cm®  c) 540cm®  d) 44cm’

13. The ratio of volume of cylinder and cone whose base and height are same is
a)1:3 b) 3:1 c)3:2 d)2:3

14. A sphere of radius 2cm is converted into hemi sphere then the radius of hemi sphere is
a) 2v/3cm b) 3v3cm c) 2v/2cm d) 3v3cm

15. A solid sphere is converted into solid cylinder then which of the following does not change
a) shape b) T.S.A c) Volume d) CS.A

16. Radii of frustum of cone are 3cm and 4cm and slant height is 10cm then C.S.A is
a) 55cm? b) 110cm? c) 220cm? d) 440cm’

17. Area of base of a cone is 24cm” and height is 6cm the volume of cone is
a) 48cm’ b) 64cm’ c) 68cm? d) 74cm?
18. Formula to find C.S.A of frustum of cone is
a)m(r, +13) b) (ry — 13) O (r’+ry4nry)  d) (g + )+ ()
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a) 3mr? b) 4mr? c) 5mr? d) 6mr?

. wOTD ROOTTR TOTT DaedFR) 80sq cM.I) H8TF) 5cm T3 ©TT FIFO
a) 200CC b) 80CC c) 100CC d) 400CC

. 2000 FIT ToPOR  343cM’sT3 938 T 0T @98
a) 9cm b) 8cm c) 49cm d) 7cm

840.c0¢ SBIY NRCYIIZY, FONA. 150.80¢ SRPY O, NACTINTR), TRTBLTW ?
a) 380 b) 400 c) 512 d) 225

2O FITY BOTREFTON TWIFWY TS ) RACYNY TIPONY DT

152}

a)m:8 b)6:m c)m:2 d8:m

WS Lo 7 F0.Ne QWB WO FIOOT FTIVWOT NRYT NOF FIFOP
a) 179.66 CC b) 185CC c) 145CC d) 125.55CC

L NVTONO T HITNH FzdewoN 12%0.80¢, 8 F0.50¢ 30 6%0.50¢ YT SODT FIT FIHPO
a) 568CC b) 576CC ¢) 576sqcm d) 570CC

. TRT DB, TR FRTNDR AO0TT', 0B ) WFFRRYNY FIPO VDTRIP)
a) 4:5:7 b) 3:1:2 c)1:2:3 d)3:2:1

. 630.e0¢ mén@% 2,070 r{@e%ﬁd&% TONRA 250.80¢ méx@% 20T 0SONZ, VPRTIN TOI0D YT
a) 36cm b) 18cm c) 66cm d) 12cm
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TIRTT3 8 RRYT SR

a)12cm b) 8cm c) 6cm d) 3cm

11.3%0.c0¢ &% ) &8 DT 7H0.40¢ TVT/ 20T TOBNT T0.30C.DALEE
a) 33cm’? b) 44cm’® c) 55cm’ d) 66cm?

12. HBIE 44%0.50¢ DB 2FTF) 10%0.80¢ SNH .00 ADOBT'T .30 DACEDE
a) 340cm? b) 440cm? c) 540cm? d) 44cm?

13. T8 W) HTOMD FDeNNST ADOTT® 3B, BORNNT FIFONY T
a)1:3 b) 3:1 c)3:2 d) 2:3

14.2%0.50¢ SmRF 00T RRCTVI)Y, WO VTFRACTHIN TOBEFATRN WTT B
a) 2v/3cm b) 3v3cm c) 2v/2cm d) 3v3cm

15. 2.0 wsmwwmi WO TS ADO/WT R TORF SATN ARNTY TR WTTNROY
a) 300 b) Zre.30e.& C) FIF© d) z0.30e.

16. 37ied 3750.00¢ WTY 4%0.50¢ QWT 20T JORIT YIFT &3 DT 1080.40¢ STT ©TT 59.36.8
a) 55cm’ b) 110cm’ c) 220cm’ d) 440cm’




17. 2,00 30BIT TTT QAeedF 24 3.80.50¢ ) DTTF) 6 F0.50e BT JORIT FIPO
a) 48cm’ b) 64cm? c) 68cm’® d) 74cm?®

18. 0BT YT FB 0.5 DACE FOWLROINT BHT,
a)m(ry + 1) b) m(ry — 1) o) (4 4rry)  d) m(ry + )+ m(r’+n°)
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